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4. For the emitter follower in following Fig., the signal source is directly coupled to the transistor
base. If the dc component of vy, is zero, find the dc emitter current Ig. Assume /3 =100.

Neglecting r,, find Rj,, the voltage gain v,/vy;g, the current gain i,/i;, and the output resistance R oy;.
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5. Derive the closed loop gain G of the Instrumentation Amplifier shown in following Fig. (20%)
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#include <pthread.h>
#include <stdio.h>

int value = 0;
void *runner (void *param); /* the thread */

int main(int argc, char *argv([])
{

int pid;

pthread. t tid;

pthread.attr.t attr;

pid = fork();

if (pid == 0) {/* child process */
pthread.attr_init (&attr) ;
pthread.create (&tid, &attr, runner, NULL) ;
pthread.join(tid, NULL) ;
printf ("CHILD: value = %d",value); /* LINE C */

b
else if (pid > 0) {/* parent process */

wait (NULL) ;

printf ("PARENT: value = %d",value); /* LINE P */
}

}

void *runner (void *param) {
value = 5;
pthread_exit (0) ;

}
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